

### MAHARASHTRA STATE ELECT. TRANSMISSION CO. LTD.

From :-									
Name of Office :- EHV Civil Const. Cum Maint. Division, MSETCL, Amravati									
Office address :- Vidhyut Bhavan Shivaji nagar Amravati – 444603									
Contact No.	:- 0721- 2663659								
Email Id	:- ee1710@mahatran	<u>sco.in</u>							
EEC/EHV/CCCM	I/Dn./Amt/ Tech/	600	Date 05.09.2017						

## **E-QUOTATION**

то					

Sub : - Construction of CD work and approach Road at the entrance of 220KV S/Stn. Ghatodi, Dist. Yavatmal.

## Due on : - 13.09.2017

Dear Sir,

Sealed and super scribed Percentage rate quotations are invited so as to reach this office on or before **13.09.2017** up to **15.00** Hours for the execution of various items of works as per the Schedule - 'B' enclosed and as per the terms and conditions given below : -

#### 'TERMS & CONDITIONS '

- 1. The terms and conditions mentioned in the 'Works and Contract 'Book-let are applicable and copies of same can be purchased by the Contractor (s) on payment of Rs. 50.00 from the office.
- 2. The work shall have to be completed in all respect within a period of **1 Month** from the date issue of work order, failing which the Contractor will be liable to pay compensation / penalty at Half percent per week maximum up to 10% of the value of the work order.
- 3. The rates quoted by the Contractors shall include :
  - i. All tools and plants required for carrying out the job.
  - ii. All labor charges required to execute the job.
  - iii. All temporary works required to complete the work including transportation of all required material to site.
- 4. The Company shall supply no material. All materials are required to be procured by the Contractor.
- 5. The work shall have to be carried out as per the 'Standard Specifications' and with best workmanship like manner and to the entire satisfaction of the Engineer-in-charge.
- 6. The Contractor shall be responsible for all accidents occurred / damages caused during the execution of the work He shall have to make good of the same at his own cost as directed.
- 7. The Contractor shall be responsible to abide all prevailing labour laws including the Workman Compensation Act.
- 8. The payment shall be made on the Final Bill basis.
- 9. The successful Contractor shall have to pay Security Deposit amounting to 5% of work order

value.

- 10. The quantities in the Schedule 'B' are approximate only and liable for variation.
- 11. The right to reject any or all quotations without assigning any reasons is reserved.
- 12. Any clarification pertaining to work shall be had from the undersigned before submitting the quotation.
- 13. The estimated cost of the work is Rs. 155772 /- (Approx)
- 14. The Contractor shall have to pay Earnest Money Deposit ( **E. M. D** ) of **Rs. 1560/-** along with the quotation in the form of D. D. in favour of E.E.(Civil), EHV CCCM Dn. Amravati.
- 15. The Income-tax and other applicable taxes per prevailing rate & rules shall be deducted from Contractor's bill, GST will be applicable as per GST rules.
- 16. Jurisdiction and Deduction clauses are applicable.
- 17. The blank quotation copy shall be available in EHV CCCM Dn. Amt. free of cost, during the working hours from 06.09.2017 to 12.09.2017.
- 18. The rates quoted shall be inclusive of all taxes etc.

Enclosed : As above.

### Executive Engineer ( C ) EHV CCCM Division, MSETCL, Amravati

C.s.w.rs.to :-

1) The Superintending Engineer (C), EHV CCCM Circle Amravati

Copy to :-

- 1) The Addl. Executive Engineer (C), EHV CCCM S/Dn. Yavatmal
- 2) The Dy. Manager (F&A), EHV CCCM Dn. Amravati
- 3) Notice Board
- 4) Master File

## MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD EHV CCCM DIVISION, AMRAVATI

Name of Work - Construction of CD work and approach Road at the entrance of 220 KV S/s Ghatodi, Dist. Yavatmal

# SCHEDULE B

ltem No	ITEM OF WORK	QTY.	RATE	UNIT	AMOUNT
1	Excavation for foundation in hard murum and boulders including removing the excavated material up to a distance 50 metres, beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete. (Lift upto 1.5m.) By Manual Means	100.00	232.00	cum	23,200.00
2	Providing soling using 80 mm size trap metal in 15 cm. layer including filling voids with Crushed sand/grit, ramming, watering etc. complete.	50.00	634.00	cum	31,700.00
3	Providing soling using 40 mm size trap metal in 15 cm. layer including filling voids with Crushed sand/grit, ramming, watering etc. complete.	20.00	680.00	cum	13,600.00
4	Supplying hard murum/ kankar at the road site, including conveying and stacking complete.Spreading hard murum for side width etc. complete.	40.00	470.00	cum	18,800.00
5	Providing earth work in embankment with approved materials obtained from departmental land or other sources upto lead of 50m. including all lifts, laying in layers of 20cm. to 30cm. thickness breaking clods, dressing to the required lines, curves, grades & section, watering and compaction with Power roller to achieve not less than 97 % of standard proctor density etc. complete	30.00	70.00	cum	2,100.00
6	Supplying soft murum/ kankar at the road site, including conveying and stacking complete.Spreading hard murum for side width etc. complete.	5.00	470.00	cum	2,350.00

7	Compacting the metal side widths including laying in layers on each side with power roller including artificial watering etc. complete.	300.00	5.00	Sqm	1,500.00
8	Compacting the sub grade layer side widths including laying in layers on each side with power roller including artificial watering etc. complete.	230.00	5.00	Sqm	1,150.00
9	Compacting the hard murum/kankar side widths including laying in layers on each side with power roller including artificial watering etc. complete.	110.00	5.00	Sqm	550.00
10	Providing and laying cement concrete pipe of IS 458:2003 NP-2 class of 800mm diameter in proper line, level and slope including providing and fixing collars in cement mortar 1:2 and curing etc. complete.	15.00	2885.00	Rmt	43,275.00
11	Providing and laying in situ cement concrete of 1:4:8 proportion with trap/granite/ quartzite/gneiss metal in foundation including necessary form work, compacting and curing etc. complete. (with reversible drum rtype mixer with SCADA with natural sand)	3.00	4149.00	Cum	12,447.00
12	Unskilled Mazdoor	10.00	510.00	NO	5,100.00
				TOTAL	155772.00

Sd-

Executive Engineer (C) EHV CCCM Division AMRAVATI

I	am/	we	are	ready	to	execute	the	above	said	wor	k	:				% (ir	<b>i</b> 1	fig.)
									perc	ent	(	in	words)	above	/	belov	N	the

estimated cost.

Signature of the contractor